Subtracting Hundredths

Name: Score:

Subtract the following decimal numbers!

346 - 287 = 1033 - 482 =

744 - 3.88 = 21.03 - 15.85 =

585 - 0.96 = 1223 - 5.54 = 14.88 - 12.05 =
6.32 - 594 = 6.54 - 4.56 = 12.44 - 6.08 =
14.09 - 12.13 = 7.37 - 6.67 = 8.14 - 297 =
8.12 - 2.14 = 2095 - 998 = 45.67 - 41.35 =
434 - 345 = 16.12 - 14.58 = 12.15 - 12.08 =
1345 - 9.87 = 855 - 478 = 13.55 - 11.98 =
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Answers

Subtract the following decimal numbers!

0.59 1033 - 482= 55I
3.56  21.03 - 1585 = 5.18
489 1223 - 554 = 06.69
0.38 6.54 - 456 = 1.98
1.96 7.37 - 6.67= 0.
598 2095 - 9.98 = 10.97
0.89 16.12 - 1458 = 1.54
3.58 855 - 4798 = 3.77
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